REV. 11/18

KIM LIGHTING, LUMINAIRE MODEL * ETO/1A/ET2/60L/
4K/VOLTAGE/DB/A-25-W/PICOPRISM LED.
PHOTOCELL OR SHORTING CAP PROVIDED BY OWNER,
PHOTOCELL MODEL TYCO #8090-VFS-BL.

i -

—— SECOND FIXTURE, IF REQUIRED.
*PROVIDE SEPARATE UF TYPE CABLE MIN. SIZE 12/2
RUNNING UP INSIDE POLE FOR EACH LUMINAIRE.=*

w4\40u

A

1

;

KIM LIGHTING, MODEL PSA14-4125-A-DB-P (POLE).

OWNER TO FURNISH LUMINAIRE(S), POLE, BASECOVER,
PHOTOCELL(S), AND POLE ID*S.

CONTRACTOR SHALL PROVIDE CONDUIT, CABLES, GROUND ROD,
AND PRECAST CONCRETE FOUNDATION WITH ANCHOR BOLTS.
CONTRACTOR SHALL ASSEMBLE AND SET COMPLETE ASSEMBLY.

ISU IDENTIFICATION NUMBERS, SEE DETAIL A.
INCOMING CIRCUIT ELECTRICAL WIRE SHALL EXTEND
A 12" FROM HANDHOLE. INCOMING EQUIPMENT GROUND
— WIRE SHALL BOND TO POLE GROUNDING LUG AND
ol WITH *6 AWG BARE SOLID COPPER CGROUND WIRE
T CONNECTED TO TO GROUND ROD.

BASE COVER PLATE, ANCHOR BOLTS 3/4" X 15" X 3"
ANCHOR BOLT PROTRUSION 3-1/8"
" BOLT CIRCLE PATTERN.

o INSTALL CENTER OF BASE 3'-9" FROM EDGE
-9 “’/f OF SIDEWALK AND TOP OF BASE 1" MIN

\<
\/\

|
VAYAVA VAVAYAYAYAAAYAVAAYAYA VA\WLWVA\%\V/)NA\%\MW ﬁ‘\

Z‘AOH

YAV WAWA\VAVAWAW?VA\%\YNA VAN RVAYVAYAAYA

5\40\\

\

6" CRUSHED STONE
TAMPED FOOTING
(/2 pr 3/8 STONE)

CAD-WELD CONNECTION TO
*6 AWG SOLID COPPER

\ T‘,@E ‘ ABOVE GRADE.
== = )= 1] — SIDEWALK
. 3/4" PVC CONDUIT FOR GROUND WIRE TO ROD.

THREE (3) 1" PVC CONDUITS STUBBED OUT
ON SIDES OF POLE BASE. CAP SPARE CONDUITS.

?

| ———— PROVIDE 7000 PSI , 16" SQUARE X 60"
PRECAST CONCRETE FOUNDATION,
FROM IOWA BASE, INC. (PHONE 641-435-4159).

\ 24" AUGERED HOLE, BACKFILL VOIDS WITH 1/4"

OR SMALLER CRUSHED CONCRETE, POWER TAMPED
IN 6" INCREMENTS.

——— 4-#*4 CORNER RODS.

#2 TIES @ 1-3" O.C.

\ 5/8"X10'-0" GROUND ROD.

WIRE. STANDARD PRE-CAST FOUNDATION DETAIL

ISU

SIDEWALK LIGHTING SHEET 1 OF 3



AutoCAD SHX Text
SHEET 1 OF 3

AutoCAD SHX Text
ISU SIDEWALK LIGHTING

AutoCAD SHX Text
14'-0"

AutoCAD SHX Text
3'-9"

AutoCAD SHX Text
2'-0"

AutoCAD SHX Text
1"

AutoCAD SHX Text
5'-0"

AutoCAD SHX Text
A

AutoCAD SHX Text
KW

AutoCAD SHX Text
35

AutoCAD SHX Text
2'-0"

AutoCAD SHX Text
STANDARD PRE-CAST FOUNDATION DETAIL

AutoCAD SHX Text
REV. 11/18

AutoCAD SHX Text
1

AutoCAD SHX Text
1

AutoCAD SHX Text
5/8"X10'-0" GROUND ROD.

AutoCAD SHX Text
#2 TIES @ 1'-3" O.C.

AutoCAD SHX Text
4-#4 CORNER RODS.

AutoCAD SHX Text
24" AUGERED HOLE, BACKFILL VOIDS WITH 1/4" OR SMALLER CRUSHED CONCRETE, POWER TAMPED IN 6" INCREMENTS.

AutoCAD SHX Text
PROVIDE 7000 PSI , 16" SQUARE X 60" PRECAST CONCRETE FOUNDATION, FROM IOWA BASE, INC. (PHONE 641-435-4159).

AutoCAD SHX Text
THREE (3) 1" PVC CONDUITS STUBBED OUT ON SIDES OF POLE BASE. CAP SPARE CONDUITS.

AutoCAD SHX Text
3/4" PVC CONDUIT FOR GROUND WIRE TO ROD.

AutoCAD SHX Text
GRADE

AutoCAD SHX Text
SIDEWALK

AutoCAD SHX Text
INSTALL CENTER OF BASE 3'-9" FROM EDGE  OF SIDEWALK AND TOP OF BASE 1" MIN ABOVE GRADE.

AutoCAD SHX Text
BASE COVER PLATE, ANCHOR BOLTS 3/4" X 15" X 3" ANCHOR BOLT PROTRUSION 3-1/8" 11" BOLT CIRCLE PATTERN.

AutoCAD SHX Text
INCOMING CIRCUIT ELECTRICAL WIRE SHALL EXTEND 12" FROM HANDHOLE. INCOMING EQUIPMENT GROUND WIRE SHALL BOND TO POLE GROUNDING LUG AND WITH #6 AWG BARE SOLID COPPER GROUND WIRE CONNECTED TO TO GROUND ROD.

AutoCAD SHX Text
ISU IDENTIFICATION NUMBERS, SEE DETAIL A.

AutoCAD SHX Text
6" CRUSHED STONE TAMPED FOOTING (1/2 pr 3/8 STONE)

AutoCAD SHX Text
OWNER TO FURNISH LUMINAIRE(S), POLE, BASECOVER, PHOTOCELL(S), AND POLE ID#S. CONTRACTOR SHALL PROVIDE CONDUIT, CABLES, GROUND ROD, AND PRECAST CONCRETE FOUNDATION WITH ANCHOR BOLTS. CONTRACTOR SHALL ASSEMBLE AND SET COMPLETE ASSEMBLY.

AutoCAD SHX Text
KIM LIGHTING, MODEL PSA14-4125-A-DB-P (POLE).

AutoCAD SHX Text
KIM LIGHTING, LUMINAIRE MODEL # ETO/1A/ET2/60L/ 4K/VOLTAGE/DB/A-25-W/PICOPRISM LED.

AutoCAD SHX Text
PHOTOCELL OR SHORTING CAP PROVIDED BY OWNER, PHOTOCELL MODEL TYCO #8090-VFS-BL.

AutoCAD SHX Text
SECOND FIXTURE, IF REQUIRED. *PROVIDE SEPARATE UF TYPE CABLE MIN. SIZE 12/2 RUNNING UP INSIDE POLE FOR EACH LUMINAIRE.*

AutoCAD SHX Text
CAD-WELD CONNECTION TO #6 AWG SOLID COPPER WIRE. 


REV. 9709 /]\J

KW 1" SPACE BETWEEN

35 LETTERS AND NUMBERS
[— SECTION K
/IJ KW35
K \\ LIGHT NUMBER
« WALK LIGHT
1"-4" SQUARE
BASE COVER PLATE q:
GROUT —
1" ROUND E———
S o -
Qq-é . 000 <
S o
RN / o ?,”I- :

DETAIL A SHEET 2 OF 3
SU SIDEWALK LIGHTING




BANNERS ONLY ALLOWED ON
POLES WITH ONE LIGHT FIXTURE.

_ o -
8" FOR ET FIXTURE
10" FOR EKG FIXTURE
18" cg
1N
COLORED CABLE TE TO _| il T
ATTACH BANNER TO BRACKET. | ] Zhs .
- ﬂ N OO:
BANNER MAX SIZE IS 368"H X 16"W e o ?i
WITH POCKETS TO ACCOMODATE — {ﬁ[‘ .
THE BRACKETS AT NOTED SPACING. \\\v/<i\\\¥¥
O
N L NOTE 1
<+
— —Ar— — N\
—N\— — N\ —N\—
MINIMUM 1S 9'=10" TO 10°=0" FROM
|~ BOTTOM BRACKET OF BANNER
TO GRADE.
GRADE
%f/ 3_g” ////ﬂﬂkklk’SDEWALK
i ‘ | ﬁ
BOTTOM OF POLE BASE PLATE S 1
=1 === =I L

NOTES
1: BANNER BELOW LOWER BRACKET CANNOT BE RESTRAI

2: BANNER BRACKET SHAFT IS 1.25” DIA X 18" LONG, &
BETWEEN THE BRACKETS SHALL BE 26 1/2 INCHES.

S0 NO OTHER SIGNAGE IS ALLOWED ON POLES WITH BAN

/—PRECAST CONCRETE FOUNDATION

NED.
TO & DIMENSION

NERS.

ISU SIDEWALK LIGHT POLE BANNER

SHEET &5 OF 3

9/27 /2017




	Walk Lights Pre-Cast (1of3)
	Model

	Walk Lights Pre-Cast (2of3)
	Walk Lights Pre-Cast (3of3)

